[MA4EE PEFE (F)
KERSUTATCAE
B $#M4E481H & $H5E3A31H
I.IRADER (M)
i 8 SMAEETELE) | FMBEEFEEH ) #  Bia-b) i E
1.2 B R A 280,000 260,000 20,000
EARE 280,000 260,000 20,000 [12@#k140(F 51
2. B & WA 0 0 0
EEfEENE 0 0 0
3. ¥ IXA 5,006 5,004 2
SZHF R 6 4 2 |RermaEEsE
Fre%E 5,000 5,000 0 |#8F.ETREY LI
AR A 0 0 0
4. B AEW A 676,785 646,395 30,390
A & BH(A) 961,791 911,399 50,392
X 1EANTDOVT, RREENDMANEICEhAEMN o110, RIEEICKMD EMATE
I.XHOE (Bifi:[M)
# ] SHAEETELE ) | SMSEETELH ) #  Bia-b) fi =
1. KERSUTA7EHRR 60,000 50,000 10,000 (£E#t2EHHERA
KK -HhEHETS 60,000 50,000 10,000 |500M x 100A %3 $EAF 8 (3%2)
2.8 X B 170,000 160,000 10,000
BHE - ST B 60,000 60,000 0 Lk BHES. RREER. BRAM
REEBE X 110,000 100,000 10,000 |E3REE% 51T (£ 1E)
KERZOTATEE 0 0 0
3.8 @& B 0 0 0
W = 0 0 0
HER 0 0 0
ZFE = 0 0 0
4.8 B B 100,000 100,000 0
EEREEE 80,000 80,000 0 [, 13atE, YIFR
NV EERE 20,000 20,000 0 [1o5—ruhEEnS
¥ X W 0 0 0
5. FEHAEXH 0 0 0
KERIVTTICAEFBRES 0 0 0
6.F% H = 5,000 5,000 0
7.8 B # 8 626,791 596,399 30,392
LHXHEE(B) 961,791 911,399 50,392
X2 BERICBLTRAET1 B1TEUBOIRYIAHIZDNTITFEHA110ANM N D=0, FHHMSEZFEH LTS,
BEES K& 84
B B SHAEEFEEG) | SMSEEFEHGR) | #  Heab) i =
i_ﬁizﬁé *Ejﬁx*uﬁ,%\ 20M
KB IIHICAEEDES 1,043,223 1,043,273 50 | AR e
nt=t=. TWMIEE* T HEILE
a5t 1,043,223 1,043,273 -50




